

SEMI-NEUTRAL GROUPOIDS AND *BCK*-ALGEBRAS

HEE SIK KIM, JOSEPH NEGGERS, AND YOUNG JOO SEO

ABSTRACT. In this paper, we introduce the notion of a left-almost-zero groupoid, and we generalize two axioms which play important roles in the theory of *BCK*-algebra using the notion of a projection. Moreover, we investigate a Smarandache disjointness of semi-leftoids.

1. Introduction

The notion of *BCK*-algebra was formulated by Iséki. The motivation of this notion is based on both set theory and propositional calculus (see [6]). The notion of an implicativity law in *BCK*-algebra has a very strong condition, and it is known that any bounded implicative *BCK*-algebra forms a distributive lattice and becomes a Boolean algebra. In Huang's book [4], very simple two axioms lead to an implicative *BCK*-algebra. We considered this fact, and we found one axiom among the two axioms is necessary to be developed in the theory of groupoid, called a left (right)-almost-zero groupoid.

Since the present authors introduce the notion of $Bin(X)$ in groupoid theory, we apply this notion to $Bin(X)$ story. Using the notion of a projection of trace functions, we generalize two axioms of *BCK*-algebra which play important role in *BCK*-algebra.

Finally we investigated the structure of semi-leftoid with group or *BE*-algebra by using the notion of a Smarandache disjointness.

2. Preliminaries

A *d*-algebra [3] is a non-empty set X with a constant 0 and a binary operation “ $*$ ” satisfying the following axioms:

- (I) $x * x = 0$,
- (II) $0 * x = 0$,
- (III) $x * y = 0$ and $y * x = 0$ imply $x = y$ for all $x, y \in X$.

Received July 6, 2021; Accepted August 5, 2021.

2010 *Mathematics Subject Classification*. Primary 20N02, 06F35.

Key words and phrases. Left-almost-zero, semi-(neutral, leftoid), power associative, *BCK*-algebra, trace function, projection, Smarandache disjoint.

An algebra $(X, *, 0)$ is said to be a *strong d -algebra* ([3]) if it satisfies (I), (II) and (III*) hold for all $x, y \in X$, where

(III*) $x * y = y * x$ implies $x = y$.

Obviously, every strong d -algebra is a d -algebra, but the converse need not be true.

A *BCK-algebra* [4, 5, 9] is a d -algebra X satisfying the following additional axioms:

(IV) $((x * y) * (x * z)) * (z * y) = 0$,

(V) $x * (x * y) * y = 0$ for all $x, y, z \in X$.

A BCK-algebra is said to be *implicative* [9] if $x = x * (y * x)$ for all $x, y \in X$. It is known that a BCK-algebra is implicative if and only if it is both commutative and positive implicative.

Given a non-empty set X , we let $\text{Bin}(X)$ denote the collection of all groupoids $(X, *)$. Given groupoids $(X, *)$ and (X, \bullet) , we define a binary operation “ \square ” on $\text{Bin}(X)$ by

$$(X, \square) := (X, *) \square (X, \bullet),$$

where

$$x \square y = (x * y) \bullet (y * x)$$

for any $x, y \in X$. Using that notion, Kim and Neggers proved the following theorem.

Theorem 2.1 ([8]). *$(\text{Bin}(X), \square)$ is a semigroup, i.e., the operation “ \square ” is associative. Furthermore, the left-zero semigroup is the identity for this operation.*

An algebraic structure $(X, *, 0)$ is said to be a *BE-algebra* [7] if (BE1) $x * x = 0$, (BE2) $x * 0 = 0$, (BE3) $0 * x = x$, (BE4) $x * (y * z) = y * (x * z)$ for all $x, y, z \in X$. These classes of BE-algebras were introduced as a generalization of BCK-algebras.

Given a non-empty set X , two groupoids $(X, *)$, (X, \bullet) are said to be *Smarandache disjoint* [1, 2] if X has both an $(X, *)$ -structure and an (X, \bullet) -structure, then $|X| = 1$. The notion of “Smarandache disjoint” means that, given a groupoid $(X, *)$, if we combine another groupoid (X, \bullet) to it, then it can only be a trivial groupoid.

3. Semi-neutral groupoids

K. Iséki and S. Tanaka [6] noted that a BCK-algebra $(X, *, 0)$ is said to be *left (right, resp.)-almost-zero* if $x \neq y$, then $x * y = x$ ($x * y = y$, resp.) for all $x, y \in X$. We use the notion, “semi-neutral”, in the groupoid theory. A groupoid $(X, *, 0)$ is said to be (0-) *semi-neutral* if

(I) $x * x = 0$ for all $x \in X$,

(SN) $x * y = x$ for all $x \neq y$ in X .

A groupoid $(X, *)$ is said to be an *a-semi-neutral* if there exists $a \in X$ such that

$$(I)' \quad x * x = a \text{ for all } x \in X$$

and *(SN)*.

Example 3.1. Let X be a non-empty set and let $p \in X$. Define a binary operation “ $*$ ” on X by

$$x * y := \begin{cases} x & \text{if } x \neq y, \\ y & \text{otherwise.} \end{cases}$$

Then $x * p = x$ and $p * x = p$ for all $x \in X$. It is easy to see that $(X, *)$ is a p -semi-neutral groupoid. Moreover, every element of X is a vertex of X , and an edge $x \rightarrow y$ can be defined by $x * y = x$ for all $x, y \in X$.

Proposition 3.2. Let $(X, *)$ be a left-almost-zero groupoid. If $x * y = y * x$, then $x = y$, i.e., $(X, *)$ is a strong groupoid.

Proof. Assume $x * y = y * x$ for some $x \neq y$ in X . Since $(X, *)$ is a left-almost-zero groupoid, we obtain $x * y = x, y * x = y$. Hence $x = x * y = y * x = y$, a contradiction. \square

We denote the set of all left-almost-zero groupoids defined on a set X by $LAZ(X)$, i.e.,

$$LAZ(X) := \{(X, *) \in Bin(X) \mid (X, *) : \text{left-almost-zero}\}.$$

Similarly, we denote the set of all right-almost-zero groupoids by $RAZ(X)$.

Proposition 3.3. The collection $LAZ(X)$ forms a subsemigroup of $(Bin(X), \square)$.

Proof. Given $(X, *), (X, \bullet) \in LAZ(X)$, we let $(X, \square) := (X, *) \square (X, \bullet)$. If we let $x \neq y$, then $x * y = x \bullet y = x$ and $y * x = y \bullet x = y$. It follows that $x \square y = (x * y) \bullet (y \bullet x) = x \bullet y = x$. Similarly, we have $y \square x = y$. Hence $(X, *) \square (X, \bullet) \in LAZ(X)$. Since $(Bin(X), \square)$ is a semigroup, we proved the proposition. \square

Proposition 3.4. Let $(X, *), (X, \bullet)$ be groupoids and let

$$(X, \square) := (X, *) \square (X, \bullet).$$

Then

- (i) if $(X, *) \in LAZ(X)$ and $(X, \bullet) \in RAZ(X)$, then $(X, \square) \in RAZ(X)$,
- (ii) if $(X, *) \in RAZ(X)$ and $(X, \bullet) \in LAZ(X)$, then $(X, \square) \in RAZ(X)$,
- (iii) if $(X, *), (X, \bullet) \in RAZ(X)$, then $(X, \square) \in LAZ(X)$.

Proof. Straightforward. \square

A groupoid $(X, *)$ is said to be *power associative* if $(x * x) * x = x * (x * x)$ for all $x \in X$.

Theorem 3.5. *Let $(X, *)$ be a left-almost-groupoid. If $(X, *)$ is power associative, then $(X, *)$ is a left zero semigroup.*

Proof. It is enough to show that $x * x = x$ for all $x \in X$, since $(X, *)$ is a left-almost-groupoid. Assume there exists $x \in X$ such that $x * x \neq x$ for some $x \in X$. Since $(X, *)$ is a left-zero-groupoid, we obtain $(x * x) * x = x * x$ and $x * (x * x) = x$. It follows from $(X, *)$ is power associative that $x = x * (x * x) = (x * x) * x = x * x$, which is a contradiction. Hence $(X, *)$ is a left zero semigroup. \square

Remark 3.6. Every semigroup is power associative, but a power associative groupoid need not be a semigroup in general. See the following example.

Example 3.7. Let \mathbf{R} be the set of all real numbers. Define a binary operation “ $*$ ” on \mathbf{R} by $x * y := \frac{x+y}{2}$ for all $x, y \in \mathbf{R}$. Then $x * x = \frac{1}{2}(x + x) = x$ and hence $(x * x) * x = x = x * (x * x)$. On the while, $(x * y) * z = \frac{1}{4}(x + y + 2z) \neq \frac{1}{4}(2x + y + z) = x * (y * z)$, i.e., $(\mathbf{R}, *)$ is not associative. Hence $(\mathbf{R}, *)$ is not a left zero semigroup.

Corollary 3.8. *Let $(X, *)$ be a right-almost-groupoid. If $(X, *)$ is power associative, then $(X, *)$ is a right zero semigroup.*

Proof. Similar to Theorem 3.5. \square

In Huang’s book [4], the following theorem was mentioned without proof. We provide its proof for developing the theory of a semi-neutral groupoid.

Theorem 3.9. *Every semi-neutral groupoid is an implicative BCK-algebra.*

Proof. Let $(X, *, 0)$ be a semi-neutral groupoid. We claim that it is a strong d -algebra. (III)*: Assume $x * y = y * x$ and $x \neq y$. By (SN), we obtain $x = x * y = y * x = y$, which is a contradiction. Hence (III)* holds. (II): If $x := 0$, then $0 * x = 0 * 0 = 0$ by (I). If $x \neq 0$, then, by (SN), $0 * x = 0$. Hence $(X, *, 0)$ is a strong d -algebra. We claim that $x * 0 = x$ for all $x \in X$. If $x = 0$, then $x * 0 = 0 * 0 = 0$ by (I). If $x \neq 0$, then, by (SN), we have $x * 0 = 0$. We claim that $(x * (x * y)) * y = 0$ for all $x, y \in X$. Given $x, y \in X$, if $x = y$, then $(x * (x * y)) * y = (x * (x * x)) * x = (x * 0) * x = x * x = 0$. If $x \neq y$, then $x * y = x$ and hence $x * (x * y) = x * x = 0$. It follows that $(x * (x * y)) * y = 0 * y = 0$. We claim that $[(x * y) * (x * z)] * (z * y) = 0$. We have 3 cases: (i) $x \neq y, x \neq z$; (ii) $x = y$; (iii) $x = z$. If (i) $x \neq y, x \neq z$, then

$$\begin{aligned} [(x * y) * (x * z)] * (z * y) &= (x * x) * (z * y) \\ &= 0 * (z * y) \\ &= 0. \end{aligned}$$

If (ii) $x = y$, then

$$\begin{aligned} [(x * y) * (x * z)] * (z * y) &= [0 * (x * z)] * (z * x) \\ &= 0 * (z * x) \end{aligned}$$

$$= 0.$$

If (ii) $x = z$, then

$$\begin{aligned} [(x * y) * (x * z)] * (z * y) &= [(x * y) * 0] * (x * y) \\ &= (x * y) * (x * y) \\ &= 0. \end{aligned}$$

Hence $(X, *, 0)$ is a BCK-algebra. We claim that $(x * y) * y = x * y$ for all $x, y \in X$. Given $x, y \in X$, if $x = y$, then $x * y = x * x = 0$ and hence $(x * y) * y = 0 * y = 0 = x * y$. If $x \neq y$, then, by (SN), we obtain $x * y = x$ and hence $(x * y) * y = x * y$. We claim that $x * (x * y) = y * (y * x)$ for all $x, y \in X$. Given $x, y \in X$, if $x = y$, it holds trivially. If $x \neq y$, then $x * y = x$ and $y * x = y$, and hence $x * (x * y) = x * x = 0$ and $y * (y * x) = y * y = 0$. This proves that $(X, *, 0)$ is an implicative BCK-algebra. \square

Example 3.10. Let $X := \{0, 1, 2, 3\}$ with the following table:

*	0	1	2	3
0	0	0	0	0
1	1	0	1	1
2	2	2	0	2
3	3	3	3	0

Then it is easy to see that $(X, *, 0)$ is both a semi-neutral groupoid and an implicative BCK-algebra.

Remark 3.11. The converse of Theorem 3.9 need not be true in general.

Example 3.12. Let $X := \{0, 1, 2, 3\}$ with the following table:

*	0	1	2	3
0	0	0	0	0
1	1	0	1	0
2	2	2	0	0
3	3	2	1	0

Then it is easy to see that $(X, *, 0)$ is an implicative BCK-algebra, but not a semi-neutral groupoid, since $3 * 2 = 1 \neq 3$ and $3 * 1 = 2 \neq 3$.

Theorem 3.13. Let $(X, *, 0), (X, \bullet, \widehat{0})$ be semi-neutral groupoids, and let

$$(X, \square) := (X, *) \square (X, \bullet).$$

Then $(X, \square, \widehat{0})$ is a semi-neutral groupoid.

Proof. Given $x \in X$, we have $x \square x = (x * x) \bullet (x * x) = 0 \bullet 0 = \widehat{0}$. Let $x \neq y$ in X . Then $x \square y = (x * y) \bullet (y * x) = x \bullet y = x$. Hence $(X, \square, \widehat{0})$ is a semi-neutral groupoid. \square

Theorem 3.13 shows that *the semi-neutral groupoids with respect to \square forms a subsemigroup of $(Bin(X), \square)$.*

We generalize Theorem 3.13 by using the notion of a semi-leftoid. A groupoid $(X, *, 0)$ is said to be a *semi-leftoid* over f if $x, y \in X$, (I) $x * x = 0$ for all $x \in X$; (SL) $x * y = f(x)$ for all $x, y \in X$, where $f : X \rightarrow X$ is a map.

Proposition 3.14. *Let $(X, *, 0)$ be a semi-leftoid over f and let $(X, \bullet, \widehat{0})$ be a semi-leftoid over g , where $f : X \rightarrow X$ is an injective function. If we define $(X, \square) := (X, *) \square (X, \bullet)$, then $(X, \square, \widehat{0})$ is a semi-leftoid over $g \circ f$.*

Proof. Given x, y in X , we have $x \square x = (x * x) \bullet (x * x) = 0 \bullet 0 = \widehat{0}$. Let $x \neq y$ in X . Since f is injective, we have $f(x) \neq f(y)$. It follows that $x \square y = (x * y) \bullet (y * x) = f(x) \bullet f(y) = g(f(x)) = (g \circ f)(x)$. \square

Proposition 3.14 shows that *the collection of all semi-leftoids $(X, *, 0)$ over f , where $f : X \rightarrow X$ is an injective function, forms a subsemigroup of $(Bin(X), \square)$.*

Let $(X, *, 0)$ be a semi-leftoid for f . If f is a bijection, then we have a question: Is $(X, *, 0)$ a semi-leftoid for f^{-1} ? The answer is no. See the following example.

Example 3.15. Let $X := \mathbb{R}$ and let $x * y := 2x + 1$ for all $x, y \in \mathbb{R}$. If we define a map $f : X \rightarrow X$ by $f(x) := 2x + 1$, then $(X, *, 0)$ is a semi-leftoid for f . If we assume $(X, *, 0)$ is a semi-leftoid for f^{-1} , then $f(2) = 2 * 3 = f^{-1}(2)$. It follows that $5 = \frac{1}{2}$, a contradiction.

Proposition 3.16. *Let $f : X \rightarrow X$ be a map. Let $(X, *, 0)$ and $(X, \bullet, \widehat{0})$ be groupoids with*

- (i) $x * x = 0 \neq \widehat{0} = x \bullet x$ for all $x \in X$,
- (ii) if $x \neq y$ in X , then $x * y = f(x) = x \bullet y$.

*Then $(X, *, 0)$ and $(X, \bullet, \widehat{0})$ are isomorphic as groupoids, while they are distinct elements of $Bin(X)$.*

Proof. Define a map $\varphi : (X, *, 0) \rightarrow (X, \bullet, \widehat{0})$ by $\varphi(x) := x$. Then it is a bijective function. Given $x, y \in X$, we have $\varphi(x * y) = \varphi(f(x)) = f(x) = x \bullet y = \varphi(x) \bullet \varphi(y)$. This proves the proposition. \square

4. Trace functions and left-almost-zero groupoids

Given a groupoid $(X, *)$, we define a map $T(X, *) : X \rightarrow X$ by $T(X, *)(x) := x * x$ for all $x \in X$. We call such a map $T(X, *)$ a *trace function* of $(X, *)$.

Proposition 4.1. *If $(X, *)$, (X, \bullet) are groupoids, then $T((X, *) \square (X, \bullet)) = T(X, \bullet) \circ T(X, *)$.*

Proof. Let $(X, \square) := (X, *) \square (X, \bullet)$. Then, for any $x \in X$, we have $T((X, *) \square (X, \bullet))(x) = T(X, \square)(x) = x \square x = (x * x) \bullet (x * x) = T(X, *)(x) \bullet T(X, \bullet)(x) = T(X, \bullet)(T(X, *)(x)) = [T(X, \bullet) \circ T(X, *)](x)$. \square

Given a groupoid $(X, *)$, we define a map $\iota : X \rightarrow X$ by $\iota(x) := x$ for all $x \in X$. For any trace function T , we define a subset $Ker(T)$ of $Bin(X)$ by

$$Ker(T) := \{(X, *) \in Bin(X) \mid T(X, *) = \iota\}.$$

Proposition 4.2. *Let $(X, *)$ be a groupoid and let $(X, \bullet) \in Ker(T)$. Then*

$$T((X, *) \square (X, \bullet)) = T(X, *) = T((X, \bullet) \square (X, *)).$$

Proof. Given $x \in X$, since $(X, \bullet) \in Ker(T)$ and Proposition 4.1, we have

$$\begin{aligned} T((X, *) \square (X, \bullet))(x) &= [T(X, \bullet) \circ T(X, *)](x) \\ &= T(X, \bullet)(T(X, *) (x)) \\ &= T(X, \bullet)(x * x) \\ &= x * x \\ &= T(X, *) (x). \end{aligned}$$

Similarly, we obtain $T((X, \bullet) \square (X, *)) = T(X, *)$, proving the proposition. \square

Let $(X, *)$ be a groupoid. A map $\varphi : X \rightarrow X$ is said to be a *projection* on X if $\varphi \circ \varphi = \varphi$, i.e., $\varphi(\varphi(x)) = \varphi(x)$ for all $x \in X$.

Theorem 4.3. *Let $(X, *)$ be a left-almost-zero groupoid and let $\varphi := T(X, *)$. If φ is a projection on $(X, *)$, then*

$$(x * (x * y)) * y = \varphi(x)$$

for all $x, y \in X$.

Proof. Given $x, y \in X$, if $x = y$, then $(x * (x * y)) * y = (x * (x * x)) * x = (x * \varphi(x)) * x$. If $x = \varphi(x)$, then $(x * \varphi(x)) * x = (x * x) * x = \varphi(x) * x = x * x = \varphi(x)$. If $x \neq \varphi(x)$, then $(x * \varphi(x)) * x = x * x = \varphi(x)$. Hence $(x * (x * y)) * y = \varphi(x)$. If $x \neq \varphi(x)$, then $x * y = x$, since $(X, *)$ is a left-almost-zero groupoid. It follows that

$$(x * (x * y)) * y = (x * x) * y = \varphi(x) * y.$$

If $\varphi(x) \neq y$, then $\varphi(x) * y = \varphi(x)$. If $\varphi(x) = y$, then $\varphi(x) * y = \varphi(\varphi(x)) = \varphi(x)$, since φ is a projection on X . Hence we obtain $(x * (x * y)) * y = \varphi(x)$, proving the theorem. \square

Corollary 4.4. *Let $(X, *)$ be a left-almost-zero groupoid and let $\varphi := T(X, *)$. If there exists $0 \in X$ such that $\varphi(x) = 0$ for all $x \in X$, then*

$$(x * (x * y)) * y = 0$$

for all $x, y \in X$.

Proof. Assume that there exists $0 \in X$ such that $\varphi(x) = 0$ for all $x \in X$. Then $(\varphi \circ \varphi)(x) = \varphi(\varphi(x)) = \varphi(0) = 0 = \varphi(x)$ for all $x \in X$, i.e., φ is a projection on X . By Theorem 4.3, we prove that $(x * (x * y)) * y = \varphi(x) = 0$ for all $x, y \in X$. \square

Theorem 4.5. *Let $(X, *)$ be a left-almost-zero groupoid and let $\varphi := T(X, *)$. If φ is a projection on $(X, *)$, then*

$$((x * y) * (x * z)) * (z * y) = \varphi(x)$$

for all $x, y, z \in X$.

Proof. Given $x, y, z \in X$, we have 4 cases: (i) $x \neq y, x \neq z$; (ii) $x = y, x \neq z$; (iii) $x \neq y, x = z$; (iv) $x = y, x = z$.

(i) Assume $x \neq y, x \neq z$. Then $x * y = x, x * z = x$. It follows that

$$\begin{aligned} ((x * y) * (x * z)) * (z * y) &= (x * x) * (z * y) \\ &= (x * x) * (z * y) \\ &= \varphi(x) * (z * y) \\ &= \begin{cases} \varphi(x) * \varphi(x) & \text{if } \varphi(x) = z * y, \\ \varphi(x) & \text{if } \varphi(x) \neq z * y \end{cases} \\ &= \begin{cases} \varphi(\varphi(x)) & \text{if } \varphi(x) = z * y, \\ \varphi(x) & \text{if } \varphi(x) \neq z * y \end{cases} \\ &= \varphi(x), \end{aligned}$$

since φ is a projection on X .

(ii) Assume $x = y, x \neq z$. Then $x * y = x * x = \varphi(x), x * z = x$ and $z * x = z$. It follows that

$$\begin{aligned} ((x * y) * (x * z)) * (z * y) &= (\varphi(x) * x) * z \\ &= \begin{cases} (\varphi(x) * \varphi(x)) * z & \text{if } \varphi(x) = x, \\ \varphi(x) * z & \text{if } \varphi(x) \neq x \end{cases} \\ &= \begin{cases} \varphi(\varphi(x)) * z & \text{if } \varphi(x) = z * y, \\ \varphi(x) * z & \text{if } \varphi(x) \neq z * y \end{cases} \\ &= \varphi(x) * z, \end{aligned}$$

since φ is a projection on X . We claim that $\varphi(x) * z = \varphi(x)$. In fact, if $\varphi(x) \neq z$, then $\varphi(x) * z = \varphi(x)$, since $(X, *)$ is a left-almost-zero groupoid. If $\varphi(x) = z$, then $\varphi(x) * z = \varphi(x) * \varphi(x) = \varphi(\varphi(x)) = \varphi(x)$, since φ is a projection on X . Hence we obtain $((x * y) * (x * z)) * (z * y) = \varphi(x) * z = \varphi(x)$.

(iii) Assume $x \neq y, x = z$. Then $x * y = x, x * z = x * x = \varphi(x)$ and $z * y = x * y = x$. It follows that

$$\begin{aligned} ((x * y) * (x * z)) * (z * y) &= (x * \varphi(x)) * x \\ &= \begin{cases} (\varphi(x) * \varphi(x)) * x & \text{if } \varphi(x) = x, \\ x * x & \text{if } \varphi(x) \neq x \end{cases} \\ &= \begin{cases} \varphi(\varphi(x)) * x & \text{if } \varphi(x) = x, \\ \varphi(x) & \text{if } \varphi(x) \neq x \end{cases} \\ &= \varphi(x), \end{aligned}$$

since φ is a projection on X .

(iv) Assume $x = y, x = z$. Then $((x * y) * (x * z)) * (z * y) = ((x * x) * (x * x)) * (x * x) = (\varphi(x) * \varphi(x)) * \varphi(x) = \varphi(\varphi(x)) * \varphi(x) = \varphi(x) * \varphi(x) = \varphi(\varphi(x)) = \varphi(x)$. This proves the theorem. \square

Corollary 4.6. *Let $(X, *)$ be a left-almost-zero groupoid and let $\varphi := T(X, *)$. If there exists $0 \in X$ such that $\varphi(x) = 0$ for all $x \in X$, then*

$$((x * y) * (x * z)) * (z * y) = 0$$

for all $x, y, z \in X$.

Proof. As we have seen in Theorem 4.3, φ is a projection and $\varphi(x) = 0$ for all $x \in X$. By Theorem 4.5, we obtain $((x * y) * (x * z)) * (z * y) = 0$ for all $x, y, z \in X$. \square

Theorem 4.7. *Let $(X, *)$ be a left-almost-zero groupoid and let $\varphi := T(X, *)$. If there exists $0 \in X$ such that $\varphi(x) = 0$ for all $x \in X$, then $(X, *, 0)$ is a BCK-algebra.*

Proof. Given $x \in X$, we have $x * x = \varphi(x) = 0$ and $0 * x = 0$, since $(X, *)$ is a left-almost-zero groupoid. Assume there exist x, y in X with $x \neq y$ such that $x * y = 0 = y * x$. Since $(X, *)$ is a left-almost-zero groupoid, we have $x * y = x$ and $y * x = y$, and hence $x = 0 = y$, which is a contradiction. Hence $(X, *, 0)$ is a d -algebra. By applying Theorem 4.3 and Corollary 4.6, we prove that $(X, *, 0)$ is a BCK-algebra. \square

A groupoid $(X, *)$ is said to be *positive implicative* if $(x * y) * y = x * y$ for all $x, y \in X$. Every positive implicative BCK-algebra is a positive implicative groupoid. The following proposition shows the another way to find positive implicative groupoids.

Proposition 4.8. *Let $(X, *)$ be a left-almost-zero groupoid and let $\varphi := T(X, *)$. Then $(X, *)$ is positive implicative.*

Proof. Given $x, y \in X$, if $x \neq y$, then $x * y = x$ and hence $(x * y) * y = x * y$. If $x = y$, then $(x * y) * y = (x * x) * x = \varphi(x) * x$. We claim that $\varphi(x) * x = \varphi(x)$. In fact, if $\varphi(x) \neq x$, then $\varphi(x) * x = \varphi(x)$, since $(X, *)$ is a left-almost-zero groupoid. If $\varphi(x) = x$, then $\varphi(x) * x = x * x = \varphi(x)$. Hence $(x * y) * y = (x * x) * x = \varphi(x) * x = \varphi(x) = x * x = x * y$, proving the proposition. \square

5. Smarandache disjointness

The notion of the Smarandache disjointness is very important to investigate the structures of several general algebraic structures. It gives to test some collision between axioms which consisting two algebraic structures. If we find two algebraic structures are Smarandache disjoint, then two algebraic structures have different branches.

In this section we investigate some relations between the semi-leftoid and other two algebraic structures as follow:

Theorem 5.1. *The class of groups and the class of a semi-leftoids are Smarandache disjoint.*

Proof. Let $(X, *, 0)$ be both a group and a semi-leftoid for f . If we take y_1 and y_2 with $y_1 \neq y_2$, then $x * y_1 = f(x) = x * y_2$ for all $x \in X$. Since X is a group, by cancellative laws, we obtain $y_1 = y_2$, a contradiction. \square

Theorem 5.2. *The class of BE-algebras and the class of a semi-leftoids are Smarandache disjoint.*

Proof. Let $(X, *, 0)$ be both a BE-algebra and a semi-leftoid for f . Then we have $f(0) = 0 * x = x$ for all $x \in X$. If $|X| \geq 2$, then the mapping f has two values, which is a contradiction. Hence $|X| = 1$, proving the theorem. \square

References

- [1] P. J. Allen, H. S. Kim, and J. Neggers, *Smarandache disjoint in BCK/D-algebras*, Sci. Math. Jpn. **61** (2005), no. 3, 447–449.
- [2] P. J. Allen, H. S. Kim, and J. Neggers, *Bracket functions on groupoids*, Commun. Korean Math. Soc. **34** (2019), no. 2, 375–381. <https://doi.org/10.4134/CKMS.c180136>
- [3] J. S. Han, H. S. Kim, and J. Neggers, *Strong and ordinary d-algebras*, J. Mult.-Valued Logic Soft Comput. **16** (2010), no. 3-5, 331–339.
- [4] Y. Huang, *BCI-Algebra*, Science Press, Beijing, 2006.
- [5] A. Iorgulescu, *Algebras of Logic as BCK Algebras*, Editura ASE, Bucharest, 2008.
- [6] K. Iséki and S. Tanaka, *An introduction to the theory of BCK-algebras*, Math. Japon. **23** (1978/79), no. 1, 1–26.
- [7] H. S. Kim and Y. H. Kim, *On BE-algebras*, Sci. Math. Japo. Online **e-2006** (2006), 1299–1302.
- [8] H. S. Kim and J. Neggers, *The semigroups of binary systems and some perspectives*, Bull. Korean Math. Soc. **45** (2008), no. 4, 651–661. <https://doi.org/10.4134/BKMS.2008.45.4.651>
- [9] J. Meng and Y. B. Jun, *BCK-Algebras*, Kyung Moon Sa, Seoul, 1994.

HEE SIK KIM
DEPARTMENT OF MATHEMATICS
HANYANG UNIVERSITY
SEOUL 04763, KOREA
Email address: heekim@hanyang.ac.kr

JOSEPH NEGGERS
DEPARTMENT OF MATHEMATICS
UNIVERSITY OF ALABAMA
TUSCALOOSA, AL 35487-0350, U.S.A.
Email address: jneggers@ua.edu

YOUNG JOO SEO
DEPARTMENT OF MATHEMATICS
DAEJIN UNIVERSITY
POCHEN 11159, KOREA
Email address: joogang@daejin.ac.kr